o] AA

3}

e

PART I



H o 1A
qr o) A
N N
oF AR
o o
o

AN o

—

o

o &2 st

=



1l $x9 715

ASdstal £ e



1. &3¢ &y

=A o] s

v(t) = v, + at
S(t) =, + vyt + ¥2 at?

(Vo -l—-—1-‘— So ]:I"‘l’]x])

221 5 (d: EE24 +7F)

V, = Vg, +a,t =Vv,c0s0

Vy = Vg, + a,t = Vsing - gt

X(t) = Xg + Vg, t + Y28, 12 = X, + (v,c0s0) t

Y(t) = Yo + Vo t + Y2a,t2 =y, + (VSinG) t —% gt?
AEYgn &)%)



1. £%9)} 7f&x

ASdstal £ e



1. £x9) 7M&x

ASdstal £ e



1. 59 7f&x

<387 S
! ;i :L;J.L o
VILLEY o s
' 8 5%, i 4F
T T T

glo] ol Hol Mt A9 Agsiet.

ASdstal £ e



1. £59} 7f&x

ASdstal £ e



1. £59} 7f&x

ASdstal £ e



1. £59} 7f&x

q\ (a>0)

527} A% S7ha,
WTTTTT T : I-E',: 7+

"T' (a2=<0)

ASdstal £ e



1. £59} 7f&x

d
&0 Walg S A7kl we A EeE g g

AV =V(t) -V,

Av:j;dv:j'

t t } v(t) =V, +at
[adt :ajodt —at

ASdstal £ e



1. £59} 7f&x

AX = X(t) — X

t t t 1 5

Ax = [ vdt= | (vo +at)dt :v0t+aj0tdt—v0t+5at
1 2

S X(t) = Xg + Vpt +§at

ASdstal £ e



1. &9 7l&x

Fo] WolA A= A7ke] Aol u] g e}
Asdsta &3 st



1. £59 tex

xrh & L
‘ \
Vo, t.=? @ x=h v=0
1=0 73 A
! r=0 5o 2
G0 : i r=0
t“-" ll Y. . l !
7 : : il
- el
| ' -i
|
o 3
ze 9= a1 T =02
Sxl 27} — | i =0| Z|Z3Xoj
b g8 =2

ASdstal £ e



1. £59} 7f&x

gk,

o] Slofok

—
1o

ASdstal £ e



1. £59} 7f&x

st

= = A7 4A

o] ~E g~

¢

I
—_

HaA ik & HRETH

£30]7] AlFict

ASdstal £ e



2. XX +¥

»
< -

ASdstal £ e



PPV LV i A A S S A 'r??/‘f-”{’ff!,f‘

ASdstal £ e



2. XX +¥

=

ASdstal £ e



2. XX +¥

ASdstal £ e



2. X4 +¥

CEERE

A+B=B+A

ASdstal £ e



2. XX &%

CEERE

— X

||

ASdstal £ e



2. ¥ 54 +F

W E] o] A1
A=(A,A)=A i+ A ]
¥ /N

ASdstal £ e



2
EEN +F

ST

A
Edistw E23
3t}



2. X4 +¥

wE) o] 4 B3} )5}

2

ASdstal £ e



~

4

q

4

3t}
& &%
o

5

A



2. XX ¥

ASdstal £ e



2. X2 +F

=2 %3

=

e




2. XX +¥

Vo Vo, Vi
el 914 (X%, Y) = Ogoy,zoé)
ASdstal £ e



2. XX +¥

ASdstal £ e



ASdstal £ e



5745 Ahg

o 7o W
NIoH T

TOTL TP

4

ASdstal £ e



a=¢ sin 0
T4 e
!

2. XX +¥

ASdstal £ e



3. 4 +&

ASdstal £ e



3. 4 +&

A&t & 8y



X =Xo + Vot =X+ V,COs Ot

Voy — gt = Vgsin 6 — gt

A<
25

=12 T3l -g& 7}

ol A sin 6

- TAEF =mv3r

V2[r

- TA7ERREe] A7 a

ARt gty





